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			1) Select the number line which represents the inequality  .
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			2) Which of the following inequalities corresponds to the number line? Select A, B, C or D.
			 A.    			 B.   			 C.     			 D.     
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			3) Which of the following inequalities corresponds to the number line? Select A, B, C or D.
			 A.    			 B.   


			 C.     			 D.     
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			4) Which of the following inequalities corresponds to the number line? Select A, B, C or D.
			 A.    			 B.   


			 C.     			 D.     
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        5) Write down the inequality that describes the number line given below 


        
    
     a) 
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     b) 
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			6) Write down the inequalities represented by the number line 
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        7) Draw the following inequality on the number line below 


        
    
     a) 
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     b) 
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     c) 
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Solutions for the assessment Inequalities - Number Line

			1) [image: ]





			2) C


			3) B





			4) C





			5)  a)  


			     b)  





			6)     
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